left option
right option

S

st

t< ts
@Y :="p Y
st
=% Y

—_ N\

@Y
G
OIS
I =19
IR

. : sit
sit st sq S

S te—— st s s st s ~s ~s :
@, =TI @ = ey = T gy = gty =

s:it s:t — st sit
sist™

_— s:st™ s st™ st™ s s st™ th s st™ t _
et =71 @ =V v=" Mo =T =1 @O = aVl@aD

P pa —_ _ t”s _ —) g-s 9”89 b —
Ve = gV = g P =97 =05 9T Ty o A = % a0

sit — sit - \ S— . sglta) sgitg s:t =
Prlel = g = gp Y= Y="9"" Y= @Y = gGao




— 5 1
La™ =1L
1 et
Lal =1L
hv—l fﬁbw'
Y% =" = b
ﬁbw‘
a“CWh 5L =ba¥' = LHS =L = RHS
hv" f—\bw—
BV =bvu" = b
ﬁbv'_
1 [ . (i
LCh 2L = bﬁvﬁz = LHS =1L = RHS
] ]
B =k = b =k
[ [
TG =bY = B o=k
sit m sit p—m . £ 8, — . gts . (t?s sitg——— st
LY @ = @y =% gy = v="p = @Y =
s:t — s:t — st —_— stg 55:7 sig—t s:t
k% &% = @ ¢ =°p g =° Yv="p " Y= @ =
av M CaCIR SORS N7
4

{w S

rfﬁ
L =Tu







